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1 Explain ei✓ = cos ✓ + i sin ✓.
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2 All physical quantities must be real when using complex numbers to
solve a physical problem.
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3 Describe the motion of a harmonic oscillator in terms of a “phasor” in
the complex plane.

µ §#
Solution:

xltkahxcoslw.LItazsinCw#

l e v e l ]m

complex:

xat.EE#iEnIIEo4*tn*aE.
ooeiuiO=1=e-iwo

i i i . :"i÷÷¥
÷÷÷÷÷

ftp.qq#
gl2ex,ltl

"rotates"i ntime because...

× ,= Ayeiwt...
complex"phase"

i s wt , amplitude Api i sfixed.



4 Define amplitude, period, frequency and angular frequency.
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5 Describe the response of a harmonic oscillator driven by a sinusoidal
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